L R} WAV, g
_ - ¥N
— 'SA
1"“‘/‘L| \
D Rr=%a |
J=j2v o
Granlo_Serte
e — e, . oA n-8y 285
ln,:\—_rﬁ Rz Ritlax =@ p R 5 2t
A A
4 g
— ] | e 5
aous | ER
o Qe()m’ﬂMj
R 1 + . :‘2+?S:7%:er
Lo~ Rs 5. 5 )
¢ > (2 e
l -
‘E;:U(d?_ = (P\,?-;_'\ler_ol?_'n
Q‘?"‘ owsa =4 o ] Qi = §n—-0'257 38
\l f

)
-;) S U_&*_?E_é&omu\();zaq

.> flg,t._),g.‘":iﬁ_,t
2,
&) > s V2 €D > 1= &



() Benss, (2)

Ug,\_‘ = Re.1 = 7P 01.5,‘&: /U|625-V-

(-3

1 Jow= Nersv (

° Uﬂﬁ)am.tﬂao = 77

¥y UQ‘Dn(uU,[O +Vay
|
Viv = Un.?muﬁs v )23V

\2\)-—- H\G;).\\/ = \90_94.@&(&: )"Ju_ Qc(u(ﬂlca- 0'33 v !

bP&eamﬁLlp = Ljf),%: O\a':}?l/f( ;& Sexr vU QM(LD FQVZL@/L
b

e s

“\eu.glp 0 N Vo =Vas s/ = 0'39V
l ,l J
r
V=033

6 &\/Qs = l/ﬂ-'ls = OlBQT‘/- \

Vo, = dsese - Ruerre. Céﬂsﬂﬂdws 15&#@)
A cocde = Uﬂ::‘ - 0'335%Vv . O\G”A-
s (., AT
¢ Lwiuo WUS(Q ua)
Eu kﬂéurcud"{;’ Sere @ a' (
Sérte —
"B jﬁl jﬂ::__..O’*U’ A

_—

o fu vy c\m.qlo Pam[.l,[ P t"‘-’—@a!‘}e {as C@I‘let



( _
[ s =
P
= U b /
To, /
7
gy s
) s, 25 12y - j-[L%
Se e - "7" —
. oM -
I = Tay it

1= R +1(25
ASA = 0'alp 4 Ton
Jay= /'5A - 0'asn =05A
\1(2.5 ~ 0" 59/4

————— —_ e

L =~ /'5/ £ = 0?/ ( 1@_,\&4/@1 dzi

. e shic e ser .
Jas = 0'944 Q%&Mﬁ a L:LQ?- ~Vg [

1@-’5 ::Ot5C7A "
:(-QV = 1 = /{‘5/!,

e

e ——
Teusieros, Uﬂ», G Vzq

U K- gy = -L'T;o, 0'9Uf= 0'22¥5V, [Vazolyn

ez =21 =La 0'9YA= OITI6y Ver=olis v
| ) 0'39 71
VPGW&[O%‘/C:;W({B,






